F106EIRFHTNEEFRELREAR
#H : FR2BE5A48 (1)
5T REHER LRSS

&ﬁﬁﬂﬁ_ﬁf
[FEHi5) 201010 REFHEE EHEKS
k53 2R —3E T —5E —ol 78 8
A/H g 8B Bk KB AR L ik KB PR i KB FE i ik KB PR i KB FE iL ik KB PR i KB FE i ik KB PR il
05/04 T+ —0. /5 = . S ON— . =) & . Bl JLZE (3) "63[F I A (3) _6b|BA AL (3) “89[/NFE A= (3) 00T E£— .
100m p-334=PN p=314 &/ EHSE &/ BB p-354=PN p=334
05/04 +H1—F —E@Q) 22.74 kM EHEQ) 23.11[#1L #XQ) 2.8 EF £&0) 23.24 Eg*EF =+ () 23.56FK HE(2) 23.84 ﬁ*ﬁ % 3) 23.84|EKR ZELEQ) 23.97
200m MRS p-334=PN &+ &/ 3 p-334=PN p3 gl po3 g BB
05/04 EIR: NG 50. 59| EA(3) 51. 14/E% ¥ () 51173t X () 51.70/— &2 —ZE () 52.55/ A FK— 1) 52. 61 %Ul% —ﬁ ) 53.37 7 &— () 53.38
400m =334 p34=1 =334 &/ 3 IR% miaRE &/ REA
05/04 =116 1,69.29 &g —#t(2)  2,00.72 % 5 (2) 2,02.26/%R FH @)  2,03.304kpk Fth(3) 2,03.67/&:F F®MQ  2,07.91 F#& £X2) 2,10.61 F5 #&FO) 2,10.93
800m f-334=PN &/ 3 p-334=PN p3 341 IR% =314 RETL p=314
05/04 HEHF RAQ)  4,08.93 1L F*(2) 411.89/5:Z B4 (2) 4 15.69/HF K¥EQ)  4,17.09 {&ik Hth(3) 4,18.12 Lk E(Z) 41916 /MR 8= () 4,30.52 85 WA() 43452
1500m p-334=PN p=334=PN =334 p4=1 miRE REHH b3 g i RE
05/04 X 72 15,33.38 Hf KiE@Q) 15 51.59 &2 BE&A@Q) 1552.78 ;54K ¥ () 1556.81 By BE(Q) 16, 03. 12 J\%,R HE (3) 16,58.23 *ﬂﬂ% BKR(@ 17,37.05/F5 RRER(2) 17,44.40
5000m p-334=PN RHSE p-334=PN p-334=PN RHH po3 g RHEIX
05/04 +0.38F K#E (1) 1717510 XK 3) 17.27\KiEk BE Q) 17.30|FF &EEQ2) 17.81 B i (2) 18.89 E% #2) 20. 56 ,H7K ﬁﬂ‘i(Z) 20.72
110mH (1. 067m) p-334=PN RHSE p-334=PN p-314 HmEE p=314 RHH
05/04 =l K—B 2 59.89 E& R (2) 1,00.97| Xi& #E (3) 1,02.10FF EE Q) 1,02.36|f&1T 1£K (1) 1,03.01 &S #H(2) 1,03.31|&AR %‘,)\ ) 1,03.54
400mH (0. 914m) =334 &/ 3 p-334=PN p=314 p-334=PN p=314 &/
05/04 A REQ) 27,59.16/ 83K ME(2) 29,08.85 | #5%(2) 32,26.84 FH BAN@Q) 3547.35
5000mW RESH RHSE RHH EREE
05/04 I 8 (2 2.00 AL HIZ(2) 1.95 #0:E %087 (3) 1.85[ L% M) 1.80| K% #ih (1) 1.75 8@ B 1.70(F&:E M) 1.60
EEBk RHH p=334=PN FBAX % XitFERE p=334=PN meE
05/04 Iﬁ K (2) 3.90 JZELU X2 3.70 M@ E#H Q) 3.50F E# Q) 3.00
S RETE RHI% EHIX f%
05/04 :':*T Bt (3) 6.21(+0.5) ?E A1) 6.13(+0.4) [ &IZ(2) 6.12(0.0) *E'i 7()’:%(2) 5.95(+1.1) EEE fEEzf(U 5.72(-1.2) #&#7% #h# (2) 5.40(+0.1) | FH #E# (1) 5.38(+0.4) |f##k #$(3) 5.38(-0.9)
ENEHk ®E RHEAX p-334=PN p3 g BREE meE REA
05/04 J:E? @ 13.30(+1.1) Wﬂ:% HMBA (31310 (+1. 1) [t EFF (3)12.12(+0.5) J‘** 51:5)5](2)11 50(+0.7) .%EE lil'"(Z)ﬂ 01(+1.4)
=Bk ®E p-334=PN IR REBE REHE
05/04 *%‘ AR%E (1) 11.47[/h#k #8X (3) 10.98 | 51% E£& (1) 10. 43| Kk 1% (2) 8.93FK EIH®Q) 8.64 Frlff X (2) 8. 43[4EQ Et (1) 7.94
At RHEIXE p=334=PN REHR RHSE p-334=PN RHSE &+
05/04 FE EAEQ) 32. 411/ #k #RZK (3) 3.2718E £H0) 29.78k= BAxE(1) 27.25 By 2% (2) 26. 14| K#0 283 (2) 25.57/F5 B Q) 23. 18| Kk #%4& (2) 23.05
k2 REHE p=334=PN RHR RBI% RHH p=334=PN REHEE RHSE
05/04 BEK EEQ 12.99
NI p-334=PN
05/04 XF EBH Q) 52.70/FE ®A Q) 44917 Q) 42.85 72 B (3) 40.59[1LO %+ (2) 39.20 8REA #F (2) 37.75/4LH IR (2) 37.421ZA BEAQ) 37.17
Y p=334=PN F33g5ES REAE & RHE &/ 3 EHIE &/
05/04 E=3:4=PN 43. 64 K% 44,06 &/ FH 431 REE 45.15 REFFA 45.50 T REH 46. 17| RE®EE 46.92 A X 47.20
4% 100mR Wig K& () =l A—B @) B2H REQ Bl (3) nBE—Q AH KM Q3) FE B sl #4F (3)
KA EEQ B *¥0) BT AZEQ) Pl A Q) P EEOQ —= —EQ) BAR RE (3) TH E#E)
M E1Z @2 ER A—Q) il A Q) ik 5hEA(3) FiEk 1O =R HEQ) mE B2 MO & ()
SRR =+ 1) Z BAQ) b4 B G FE 5N (2) BK EE(2) HNHE f—«1) Ak BEAER () mE ;A
05/04 E=154 3,27.37#&/ 3 3,31.56| REF & 3,34.00 REFE XK 3,37.52 REFEE 3,43.46 RE A 3,46.46 REFT % 3,51.16/#MK 4,06. 35
4 % 400mR ER A—(3) il 2K Q) il EAQ) &k =) BA RE(3) K EEQ) L4t K (2) mE ;A
I EBAQ RI§ —4i(2) i JE Q) A 3 Q) mE B2 FiE £EQ) Ml 5K (2) Al Bz (1)
a5 Bt Q) BEE RFEQ) il A (3) X B#E Q) H EHOQ 4i# K5 Q) A EEE(2) O &4 (1)
EE Q) b4 K Q) ¥ B2 KM EEQ 1k BEAER () nBE—Q) R EKRQ) TH E#EA)
05/04 RFBAX 124 REHEH 65 K& 617/ 9 REIZE 24 REEE 19 HiIR% 14| REA 1




- S H
100m ’ |

2 54% 10. 15
e 10. 32
EHhE 10. 79
iR BEEE 3 1% + 5 0IELIEEBE o: %1 LIEBBE
[ 148] BaE +0.7 [ 2481 JEI.E +1.3
JE V-] No. K 4 E& Bk HE IIE b= K £ E& Bk HE
1] 5 115|EF A—@) &= 11.51 Q 3 1365 o I A ) =Y 11.50 Q
vaghi 44F &% Nz AV =/
2 3 13EX BEG) =K 11.9T g 2| 9 106530 ££Q) =& 11.69 g
IYEh b7 2% EHEX 79FNT 35 EFS
37 1 142980 BE (1) &K 12.07 3 6 1276/hk HREQ) Bk 11.82 q
3 F A me Yy 493 EHFHEHX
47 4 1074/ BA Q) B 12.15 47 2 1217l EEA) 0 B 12.27
 VEVIR VI EHS NV MEF EHR
5/ 8 251 XAR # (2 & 12.35 50 5 1428kl B2z () &K 12.69
R 9% TiREe AT ERLF B
6| 6 1253/l ABRQ) =k 12.43 6 8 1180/z8M ZE#(3) =& 12.90
1F47 19407 EHFHEHX A58 MEERD EHIX
72 11564 =KQ) B 12.57 77 8elERE BEN) Bk 12.94
NIYY 1)394 EHIX M4 agE MRS
8 7 8TIKH AN (B =& 12.61 4114 EF BERGQ) B
Tty 4 4xf MRS VL7 +1¥ &% Ri5
9 132|EH BmEAQ Bk
¥3/ Va9afr =/ H* Ri5
[ 3#A] R=E +2.1
JE b-»| No. K 4 E& Bk HE
1 6 1261/#48 X&) B8 11.41 Q
YNy ko EHFHEX
29 1366/ #lL K3 =K 11.61 g
INAEIVEVES &/
30 5 112340 £—(1) =1 11.95 g
N 447 &%
42 304y E—Q) =1 11.99
b YaoiF EHA
50 7 1151 I KEQ) &K 12.10
VNV RHIZE
6 8 1427 FTH EE®) mh 12.38
YEE YT e
7 4 8IB3EX wE®) E,h 12.49
Mar 493 MRS
8] 3 2754k () B 12.64
RV Vi BRI ES
BE 0.2
JE b-»| No. K 4 iE& Bk HE
1 6 1261/#48 X&) B8 11. 41
YNy ko EHFHEHX
2 5 115 ER KA—@B) =& 11.58
vauhi 44F &%
37 13 ET CEQ B 11.59
Nz AV =/ H*
47 8] 1065 &M RKE(Q) B 11.63
TAFNT 35 EFS
5 4 1366/ #lL K3 =K 11.65
INA VDL &/
6 2 13EX FEG) =& 11.89
IYEh b7 2% EHEX
7 9 1276 /p ik FRZEQ) 53 11.90
Yy 453 EHFHEHX
8 3 112340 £=—(1) =1 12.04
N 447 &%




F—TBF

B33 5H4H [10:25 |
100m
R
[ 148 BE +0.3 [ 248 BE +3.4
IE -] No. KE & RS sk % | IE -V No. KE & RS ik aE
1 7/ 1368 dtF A 3) =k 11.72 1 7 125268 E(1) =1 11.82
$443 4 T $19 1N EHAX
2 8] 1226/%x I () =k 12.55 20 2 1218/#IL EAM(Q) = 11.96
Mh a9 EHE WA T4rf EHFHEHX
3 5 1280 =& FEAL (1) =15 12.67 3 6] 1262 =k &) = 11.99
r IyEn EHBX HEY F 139 EHAX
4 3] 1386 HmAE R (1) =k 13.47 4 4] 12290 FFEQR) =1 12.57
g +hv &/ I F AR % EHE
5 4] 1385 %@ & (1) =k 13.67 5 5 13840 Ew () = 12.62
#4b an% T Eh"F 4oy T
6 6 1166 MM Fak () =k 14.22 3 1167898 =% (1) =
w5 vt EfT% 7HE Y39’ EHIT% Ri5
20 22[EF #HEA) =15
345 19% EHFAX Ri5
TF—T28F
100m
BALL—X
JIERL] No. E & HRERFE iE& sk () | fmE #8 |[NEEL
1) 1368 dt# A () =& #B/H 11.72 (+0.3) 11
2| 12521k E (1) =% |EBBEX 11.82 (+3.4) 2 1
3] 1278 Al =4+ (2) =% | EBHX 11.96 (+3.4) 2 2
4 1262/ =k & (1) =% |[EFBEX 11.99 (+3.4) 2 3
5 1226 &k T4 (1 =% | EBE 12.55 (+0.3) 1 2
6 12295T0O0 1B (3 =% EBEE 12.57 (+3.4) 2 4
7] 1384 K80 Eth (1 R &/H 12.62 (+3.4) 2 5
8 1289 =& %EEh (1 =% | EBHEX 12.67 (+0.3) 1 3
9] 1386 &/M Hth(l BR #/H 13.47 (+0.3) 1] 4
10] 1385 =ik % ( R &/H 13.67 (+0.3) 1 5
11] 1166 #E Bk ( =% |RBI1Z 14.22 (+0.3) 1 6




FF

i;‘% 5H4H 12:55
RE 5H48 14:30
200m
IR0 20.35
XA 4 20.93
E-rsd 21.60
FiE BBEE 3B 15 + 5 CIERIEBBE o: %4 LIEEBRE
[ 148 JEE +3.3 [ 248 BEE +4.4
JE] -y No. K & mEA sk % | JE -V No. K & mEA ik HE
1 9 1365EF —&F Q) =R 23.01Q 1 5 3045 FEE £EQ) =R 23.71°Q
Nz AV &/ FH 1) 54T EHA
2 3 1251 BRE =L (1) SR 23.93 q 2 9 1131|EX HEEW) =R 23.89 q
JAng Yy EHHEX IPEM EF I EFmE
3 47 1091 5EK &EE(2) =R 23.97 q 3 8 1288 %@ #@Q) =153 24.14
VIR by EHA L34 b EHFHEHX
4 T 1217 Rl EwE () =R 24.85 4 3| 1155;3K HRE (2) =R 25.28
WY bEF EHR IEF IV EHIX
5 6 1123/ £=—) =1 25.55 5 6| 1428/ KLl =z (1) =R 26.47
N 447 =H YT b1 (VN
6 8 871 KE XM ©Q) =R 25.63 20 8TEE HEQ) =15
14 4 42 MR Mo 493 MR Ri5
7 5 2767 &% %2 (2) ER 26. 66 4] 2751 KRAR #(2) =L
94 0 179y EREE TR 4% EREE Ri5
20 1429 @0 f&#H (1) =R 1 137288 =N Q) =15
3 F A me Ri5 ¥3/ Va9rfr &/ FH Ri5
[ 3] RE&E +2.7
JE] -y No. K & mEA ik HE
1 6 870—= —E@) =R 22.88 Q
1F/30 1Ry MR
2 5/ 1366 #fiL 2K (3) =R 23.08 q
L31Y Yavs &/
3 8 1259 RHE #E& (2 =R 23.25 q
4 Yo% EHFHEX
4 9/ 1164/dtE E# (1) =153 26.44
Fant® fH% EHIX
5 47 2768 ALl RF (2) B 27.44
WY 39N BikEE
71426 Rl B Q) =15
WA ATy [N Ri5
R
EE +4.1
JE] -y No. K & mEA ERl ]
1 4 80 —= —E@) =R 22.74
/30 1Ry MR
2 9/ 1259 KA #E& () =R 23.11
4 Yok EHFHEHX
3 5/ 1366 #f1L 2K (3) =R 23.18
L3177 Yavs &/
4 7 13652 F —F Q) =R 23.24
Y EbY &/
5 3 1251 BRE =L (1) SR 23.56
JAng Yy EHFAX
6 20 1091 5EK &EE(2) =153 23.84
VIR by EHA
7 6/ 3045 FEE £EQ) =153 23.84
1) 54T EHA
8 8 1131EXR H|EW) =153 23.97
IPEM BT I EFEE




F—T BT

RE 5H4H 112:56 |
200m
RS
[ 14] [&E&XE +3.3 [ 248] RZE +4.4
& - No. KE 4 iE& i fmE IE LY No. K 4 iE& (ol ]
1 1 1385 Fik at& (1) =g 5% 28.10 1 1 1386 &4l £t (1) =g 5% 27.12
#4b 2194 &/ FH g +hv &/ FH
[ 3#A] J=E +2.7
& - No. KE 4 iE& (ol ]
1 20 1384 K800 Eh (1) =g 57 25.87
Y0 VA &/
3 1430 #@=E #H () =g 53
WV IVE [N Ri5
I—T8F
200m
BALL—R
JERL] No. K 4 HRAE RS iE& gk () I Ed Bk
1] 1384 %80 ZFh (1) =159 &/ FH 25.87 (+2.7) 3 1
2 1386 &4l b (1) =R &/ FH 27.12 (+4.4) 2 1
3 1385 FEE A& (1) =R &/FH 28.10 (+3.3) 1 1




FF

B3 GH4H [70:40 |
400m
B3 46.54
EEi 46.98
25485 49.12
R
[ 138 ) . [ 248 _ i}
& b=y No. E £ FRA Y O & b=y No. E £ FRA i eE
1 4 8loj—7 — @) &K 52.55 1) 4 1376 RIE —#(2) Bk 53.37
13135 03y maEEH RS I
2] 3 14 &wE BHQ & 53.72 20 2] 3044 Bw—Q3) =153 53.38
“U¥ 0 enf EHEE 'L Ya9qF E&H
3 7 1091 EK BEEQ) & 53.99 3] 6 BBEH REQ) & 54.13
YR Y E5A B4/ 39af I
4 2 12295I00 FEG) B 58.00 43 152 EM =153 55.15
19°F 13§ E5E $19 A EHAX
50 8 164 dtE EEd) =& 58.60 51 5 1262 = &) B 55.52
£t 1§ EBT% HEY $ 3 EHAX
6] 6 1162 1A ZHA) & 1,00. 21 71163 % Ht (1) =k
¥YER Sh7H EHTE 734 W EHTE R
T 5 126@EE 5F0) ok 1,03. 46
R EHE
[ 341 _ i}
& b=y No. E £ FRA i eE
T 7 1M18EN AR & 50. 59
7HD 19k EH
2] 4 1061 BT EAGR) & 51.14
TR EHE
30 5 1113 @ESH %0) = 51.17
4%/ tay EH
43 1368 dtH BAB) &k 51.70
VISR I
5/ 6 856 WA £—(1) ok 5261
HF5 394F HaEEH
6] 2 1288 #fH ®HQB) & 53.74
ISTIECS EHEX
ZF
400m
BALL—X
JERL] No. K & HBERFE E& i L E #H [IEAL
1T 1118 BA Q) =% | EF 50. 59 3] 1
2| 1061 &4 EAB) =% RS 51.14 3 2
3 I3 ER %0) =% RF 51.17 3 3
411368 de4f A ) =k B/ 51.70 3 4
5 870 —&m —Z () 2% HIRH 52.55 11
6 856 NE HK— (1) =% HIRF 52. 61 3 5
7 1376 &IE —#t(2) =k 53.37 2 1
8| 3044 3= &— (3) =% | EHA 53. 38 2 2
9] 1141 mE BE# Q) =% EHmz 53.72 1 2
10 1288 /%M 3+ (3) =%  EHAX 53.74 3 6
11 1091 &K H®E (2 =% | RHA 53.99 13
120 1375 &8 R%F(2) =% /I 54.13 2 3
13 1252 k% = (1) =% EHAX 55.15 2 4
14 1262 Zig & (1) =% EHAX 55. 52 2 5
15 1229[;T00 F15E(3) =%  EHE 58. 00 1 4
16 1164[dL/R B (1) =% EHIZ 58. 60 1 5
17] 1162[iA B () =% EHIZ 1,00. 21 1 6
18] 1216|788 HEFE (1) =% | EBF® 1,03.46 17




FF

(REE 5H4H [14-10 |
800m
B EEk 1,46.89
B ek 1,48. 46
E-X 5 1,56.09
R
[ 18] _ [ 248] _ )
II[E b-v | No. K 4 k3 Bk /% | IE -V No. K 4 k3 B/ wmE
8 1107 @& 5% () g5 2,11.03 1 4 1157 F& £X(Q) g5 2,10. 61
993y YET R EIN Yy 4% EHIX
2 6 1092/;F% E= (2) g5 2,14.56 2 6 3101/FB &M =353 2,10.93
3/ Wy =EAE T3V M &%
3 4 3043 /hFF B2E () =i 2,15.32 3 3 1075 &% X#(2) =i 2,11.43
13 a9y EHA VIV RS EHS
51 3109 /MNE FOHE (2) =R 4 2 1282ithE IEK(1) =R 2,19.35
13t 3% £ Ri5 159 yans EHHEX
7 1383 BRE &= =353 5 8| 1382 HH RE (2) =353 2,21.01
190 Tb %/ H* Ri5 9t %% %/ H*
5 1135/ &L EXERQ) &K
L3h3 19409 EFmE Ri5
7 27645/ Q) ER
Ivth 177 % EREE Ri5
[ 3%A] _ )
JE] -y No. K 4 k3 B/ wmE
1 2 1270 k3 HE () g5 1,59.29
I Iy EHFHEX
2 6 1376/ X%IE —4 (2) =353 2,00.72
R4 %/ H*
3 4 1286 FiE 55 (2) =153 2,02.26
Th" 7 19aF EHFHEX
4 3 1066 R 2t (3) =153 2,03.30
Y74 TR EHS
5 5 872 k% it (3) =353 2,03.67
#h9 Y Mm%
6 7 3107/ && BE% Q) =153 2,07.91
19y MEER R
EF
800m
2L LL—R
JESL] No. K 4 HRAE RS k3 08k w= | # JEk
1] 1270 k& E#E Q) =R RHBX 1,59.29 3 1
2| 1376 RIE —#t(2) =R =/ H* 2,00.72 3 2
3| 1286 i HEx(2) =R EHBX 2,02.26 3 3
4 1066 #R Zth (3) =R EFS 2,03.30 3 4
5 872 {kfE Fith (3) =R iR 2,03.67 3 5
6| 3107 &:& E#% Q) =R &% 2,07.91 3 6
7] 1157 F#& £X Q) =R RHIZE 2,10. 61 2 1
8 3101 FB& BEW) =R &% 2,10.93 2 2
9] 1107 &#& #*F () =R Ftogi] 2,11.03 1 1
10| 1075k K# (2 =R EFS 2,11.43 2 3
11 1092 ;&% E7 (2 =R Ftagi] 2,14.56 1 2
12] 3043/h& EEQ) aR | EBA 2,15.32 1] 3
13| 1282[;thE 1E:K (1) =R RHBX 2,19.35 2 4
14| 1382/H® BRE Q) =R =/ H* 2,21.01 2 5
>
T 7/5'? B3 TH4E 7477 |
800m
R
[ No. K kA £l o]
1 2 1280 =i E—(2) g5 2,09.59
UMD ¥ EHFHEHX
2 3 3102 KAR X#t(1) & 2,27.15
s ¥ R




FF
1500m

[k 3,38.49

BESEix 3,38.49

Aok 4,03.00

[ No. K % R4 iR EE

1 12| 1277 #EFHF ®=KX () =153 4,08.93
924 1394 EHAX

2 14 1295 LK 3 (2) =153 4,11.89
Y ¥ ehY EHAX

3 5 3107 & &H#%(Q2) =1 4,15.69
179y MEER E%

4 1] 1071 /EF K#(3) =15 4,17.09
h 4 4% EHSE

5| 15 872 {k#k #th (3) =15 4,18.12
VIVIKSA MR

6 16] 1290/lLE ZE(2) =153 4,19.16
LIV EHHEX

7 13| 3104//hRiR 8= Q) &k 4,30.52
Y7 Yany E%

8 9 860 B & ®MWA() =15 4,34.52
IV i RE

9 18] 3043/ EE Q) =153 4,35.64
1% 19y RHA

10 19] 1215 R BASR (1) =153 4,36.53
N Bqb EHE

1 8 1092/;&% E= (2 =153 4,38.39
¥/ oy 5

12 70 12138F® #A (1) =R 4,40.02
Jang ha" b EHE

13 10] 1136 =FH 2& 2D =153 4,42. 11
734 4% EHEx

14 4 1107 &F# %£F Q) =15 4,43.03
91y IYET R

15 17) 1165/\? &Rh (1) =153 4,43.30
VPR EHIE

16 2 1382 B+ EE(Q2) =15 4,45.58
A+h a9% B/H

17 3 858|/NE ERith (1) =153 4,49.04
A Zhd MR

18 6/ 1383 BE =) =153 6,11.91
19" 0 T4b BIH

11] 3105878 & Q) =153
IV Y Y1y B Ri5
F—TBF
1500m

[ No. K % R4 iR EE

1 8 1297/ /E £ (1) =153 4,12.24
1947 44JY EHAX

2 117 1271 F@ Q) =153 4,17.48
T3 7YY EHAX

3 6/ 1292/ 8Kk Zz& (1) =153 4,17.69
W /1 EHAX

4 7 1298|285 #HXM =15 4,24.02
WYY a9s 4 EHAX

5| 15 12713 &% #m=(1) = 4,25.26
4%/ tn3 EHHEX

6 10/ 1287 KBA Z#E Q) &K 4,21.67
T 15 19% EHAX

7 17 1301 # & #Rth (1) =153 4,27.98
YYEh 73F EHHEX

8 121 1279111857 REth (2) =153 4,32.89
h77 N EHAX

9 5 1302 &%k #®E() = 4,40.99
#9993 EHAX

10 20 1291 R AN (1) =1 4,44.14
Br9F 1924 EHAX

11 9| 3103 =4 RAM) = 4,44.24
RISET E%

12 3] 1098//pAk &1 (1) =153 4,52.06
vy M RHA

13 14 859[;FK A (1) =153 5,05. 64
Y3 194 MR

14 13| 1099 £+ MK (1) =153 5,30.20
131 4 5

4 1289 =% #iE (1) =153

8/ Y avk EHAX Ri5

5H4H

19:30 |

5H4H

19:35 ]




FF
5000m

S Grd 13,21.49
BESinik 13,45.23
Er 15, 02. 62
R

[} No. K 4 RA Bk RE

1 4 1293 XE H(Q) =2 15, 33. 38
Tt/ 43 EHBAX

2 3 1071 A4 K#E Q) =2 15,51.59
4th 47 4% RHS

3 10 1281 /£R EF Q) =2 15,52.78
hta 1% EHBAX

4 2 1300 ZA& #HF Q) =2 15, 56. 81
b 398 EHBAX

5 1 1070 B{R E Q) =2 16,03.12
hth by EHE

6 5/ 3104 /KR 8= () B 16, 58. 23
AU R

7 7 3106/ #I;E EX(2) =2 17, 37.05
YH 49 AU R

8 6 1158/ FB RRER(Q2) =& 17, 44.40
IV 19909 RHEIE

9 8| 1094 LIl BKEA(2) B 18,07. 48
Y49 194a9 fEagic]

10 9] 857[/MNEFR #WEN) B 18,15.43

149 4% i RE

[(REE

5848

14:35 ]




FF

110mH (1. 067m)

B EEk 13.85
XA 4 14.44
E-rsd 14.50
R B
EE +0.3
JE] -y No. K 4 k3 B/ mE
1 4 1263\ KB () =R 17.17
D34y 5 1% EHFHEX
6 1063 #1L =X Q) g5 17.21
+H¥e 194 EHS
2] 1266 Kz &= (3) =R 17.30
Tth3 hua EHFHEHX
7 11200FF EE Q) g5 17. 81
VL7 A3 &%
5 3 2770 EE F0E(2) B 18.89
9th h3°$ EREE
6 5 3108 K& (2 =R 20.56
ThUv e BH
7 8| 1080 ;&K #IE(2) g5 20.72
YR YT EFS
FF
400mH (0. 974m)
IR0 50.33
B ek 51.36
E-X 51 53.22
R B
JE] -y No. K 4 k3 B/ wmE
1 50 1121 &k X—B1 (2 =& 59.89
3y 44¥m9 &%
2 2| 1375 &EE RF (2 %53 1,00.97
b4 3984 =/ H*
6/ 1266 K BE () =R 1,02.10
Tth3 hua EHFHEHX
3 1120 FF EE(Q2) g5 1,02.36
EVIIE S &%
4] 1255 M 1&E (1) =153 1,03.01
Mar 193 EHFHEHX
7 3108 & ©H(2) =153 1,03. 31
ThUv e %
8 138EA BEAQ =R 1,03.54
7h9% k@b %/ H*
11 1077/@% & Q2) =R
7 VN EFS Ri5
FF
5000mi
7 19, 03. 92
BEeintk 19,45.72
E-X 51 21,23.92
R B
[ No. K 4 kA i RE
1 6 1068 |;&@:A &A1) =153 27,59.16
VEESVEVEN EFS
47 1079 Bk HZ(2) =153 29,08.85
AR % 19 EFS
2 1078 fEE HHE(2) g5 32,26.84
Mar b3 EFS
5/ 2766 &H BAX () B 35,47.35
VS MVEVL! EREX
3 3105 @18 £ (3) =R
IV Y Y1y £ K&
11 2752 £ B %% (3) =g53
YFr L4y EREE Ri5

B33 5H4H 113:40 |
B33 5H4H 1 9:10 ]
(REE 5H4H 11:10 |




FF RE SH4HE 7270 |

4 x 100mR

B EEk 40. 82
B ek 41.06
KR 41.62
R B
[ 48] ) [ 2/8] .
g -y FiR# No. K £ B/ HE | V- FIERA No. K £ B HE
1 3 KBS 1065 E@ FZ Q) 45.15 1 4 RFEHKX 1261 g K2 (1) 43. 64
17395 39 75FAT 3944 /2354 YNy ok
1063 HLL HEK Q) 1259 RH #EEQ
Y7 194 h 4 i
1069 7@k sABA (3) 1275 W &1Z(Q2)
#4b9 Eo7¥ 9FYY Sheb
1074 g 15 A (2) 1251 8RR =X ()
i EVIEYLY YRng Y3y
2 7 miAR¥ 871 XA XM @A) 46.17 2 2 K% 1121 F K—B 2 44.06
AFYY+0° /39 7y 54 o/ vay 44Fm9
870 _E _§(3) 1113 EE}” /$(3)
1F/3% DRy 8%/ tny
873 =H #E Q) 1115 EF X—@Q)
Mak 953 vauhi 44F
856 WA F— (1) 1118 &Il A Q)
9F4 194F THHT 19b
3 6 EFHEx 1133 F5 &) 46.92 3 6 &/ HF 1375 BE% RF () 4431
yr WVEVESED TIVI Y1y 14 hi) ana(
1131 & EMEQ) 1365 BT 1Z&E Q)
PEh BT 24 NZEdV
1141 FEiE B (2) 1366 #f1L #2K(3)
U4 En% ISACEVEDL]
1135 #tE FEXER(3) 1368 Jt#t KX Q3)
L3h3 19409 3945 v
4 2 REHIX 1155 ZAR EiFE (2) 47.34 4 3 E¥HA 3044 F w|— Q) 45.50
/9% 39 1Eh IV Th/zy Th U YaoF
1156 4HIL =K (2) 3045 f#iE £EQ)
NYY Y394 by h47°
1157 FE#H E£X(2) 3042 {F@E& $H Q)
EIN YV h44 1M 49
1151 I K#t(Q2) 1091 EK &% (2)
MY 5 4% VIR hhy
5 4 BREZX 2770 HEH & (2) 49.16 5 5 WK 1426 b ®F Q) 47.20
#391/9% 3939 4th hA ¥ YYyA AT Ay
2768 AL RIFE(2) 1427 TH &A1)
WY 39 VRIS AYTW
2767 &E=#E &=z (2) 1429 90O & (1)
43D 379y 3y F A
2769 #&&FHF () 1430 #&E #(1)
7V ) 9% I VEY
6 5 R¥m 1226 f&k IHE(1) 51.91
th /313 Mh® ant
1222 Il #(2)
1F97 Y39
1225 €8 #K0)
ESVIERVEDL]
1229 ;IO F¥EQ)
I F hA %
g7
4 x 100mR
BALLL—R
[[=tiod RS HERE i E -4 -1 5 -2 -4 -3 -5 -4 #H gL
1 EHAX 43. 64 Wiz X2 1) HEEQ MU ECOQ BREZ=0) 2| 1
2 R% 44.06 EHHl K—8 Q) Eﬂr #Q) EH 7:—(3) EFR-ING) 2 2
3 &/ H 44.31 BH REQ BT ALCEQ AU EXQ  dF BAXEO) 2 3
4 RHE 45.15 D FEQ) L HEXQ) B %5)1(3) i RPN 1 1
5 REH 45.50 " E— () ﬁ*n%*s =5Q) ##% EOQ) Bk BEHE Q2 2| 4
6 TR 46. 17 AH KN Q) T —ZEQ &% EEG WA Ek—0) 11 2
1 EHEE 46.92 F5 BQ) EZF REQ) FE BHQ HE BABQ 1] 3
8 MK 47.20 sulh g Q) TH EE0) (B0 &H 1) AEE SO 21 5
I EHIZE 47.34 mA B (2) ’JiEHIJ-I TR T EXQ)  THE KHEQ) 11 4
10 EfEm % 49.16 Hrh 04t (2) LW RFEQ) &EE =202 BHFE HBHQ 115
1M EHE 51.91 K I (1) FﬁJll #QO ZA #MA0) IO FEQ) 1 6




BF
4 x 400mR

3,1
RS EREk 3,15.
3.1

AR

R

& V-2
1

MRS

K

EGE - ]

6 ¥

'

2

ER K—Q)
vanhy 44¥
ZNEAQ)
THH7 19b
R Bt Q)
EMYRbY i
E% ¥Q)
4%/ Eny

3,21.37

&/
Y14

#ib A Q)
h7¥v Yanh
XU —#t(2)
YU IR 4
B REQ)
M) annf
b4t A Q)
34947 huh

3,31.56

EHEH
Th /34" 19

Ea EAQ)
D4FAT b
D xEQ)
VLS INEREVL Y|
il K Q)
ASEELL]
F)I B Q)
&9 Y1y

3,34.00

EHBEKX
th 2784

£ EQ1)
#by Btk
#E FHEO)
L35 b
AE #E Q)
11h3 o
RH EEHQ
W AVEVES

RHEE
1h° /Y395 39

AR R1EQ)
WEN b 2%
mEiE B (2)
940 R
FH EHQ
734 4%

#LE BXERQ)
L3h3 194m9

3,37.52

3,43.46

REHAE
Ty

EK BEQ
)
FE £E50)
1M g3
il H% (3)
991y LT
% &— Q)

L Ya94F

3,46. 46

EHIE
/3985 39

I A Q)
447 Yanh
Ml =X (2)
VA EaUEDL]
A BARE (2)
REE VA
EH EXQ)
EIN Yy h4h

3,51.16

me
Yy

i )
40 Yy
Sl &z (1)
WAV ER1%
B0 &t (1)
3 F
TH EE01)
YR YT

4,06. 35

5H4H

[15:25 |




FF CREE 5H4H [72:00 |
ol
EE sk
=7
B R 8% 2.18
BSiEHi 2.17
KR 2.05
RS
B4 S o - E £ FEL ;rl:gg 1m60| Tm65| 1m70| 1m75/ 1m80| 1m85| Tm90 1m95| 2m00 s Bz
1 6 1072\F) B& (2 B - - - - - 0 0 0 0 0 200
1207 Y1y EHE XXX )
2 7 1275 AW E1Z©2) =R - - - - - 0 0 X0 [XX0 |XXX 1.95
9FY 4AEh EHAX :
3 4/ 1268 #piE %087 (3) B - - - - 0 0 X0 [XXX 1.85
TH Y7 MTE EHAX :
4 5 1116 £% #(3) B - - - 0 0 0 XXX 1.80
91/ 74) &% )
5 3 2716 XiF #th (1) =g 53 - - - 0 X0 [XXX 1.75
HUh 3%y LEEERS :
6 2 1258 @ BAXRBEI() iR - 0 X0 [XX0 XXX 1.70
Y98 huhng EHAX :
7 1 1430 #@:Z #() [=g 53 0 XX0 | XXX 1.60
= W IVEV) mE :
E¥ RE 5H4H 110:30 |
ol
FE Bk
=]
R R 8% 5.30
BSii 5.11
KR 4. 40
RS
IEfL | B E | Fon - K 4 E# 3m00|3m20 3m303m40] 3m50|3m60] 3m70|3m801 3m904m10] 25k | f{&&E
1 5 1151 Tk K&t (2) iR R
21 1156 IJ]:n;u:} iﬁ(z) g A A il R
) STA =X _ _ _ _
3 3 1180 ’\é’\"" I’g%@) EE}I% " - P " -
M 3 g5 _ B
Z’»’“éft?) E¥$I¥ 0 X0 XXX 3.50
4 4 13771 = 5t (2 =2
v Yk f‘% /);:F X0 XXX 3.00
2| 1303 iE&R £ (1) B Ri5
79fA" 4% EHAX




FF B33 5AH4E 79:20 |
ENE ek
=
B EEk 7.89
B ek 7. 61
E-GE 7.15
R B
NEfL | 5E Fon - K % iE4 -1- -2- -3- -4- -5- -6- FOER B
17 15 11145+ E® Q) =15 X X 579 | 6.10 | 6.21 X 6.21
EVIS R vk EH +1.3 | -0.1 | +0.5 +0.5
2 11 1263|FE K#E ) =15 5.98 | 6.02 6.06 6.09 | 6.03 | 6.13 6.13
h34y 4 4% EHFAX +1.0  -1.0  -0.4  -0.4 | -1.1 | +0.4 +0.4
313 1275/ &= @) =15 6.12  6.07 | 6.01 6. 05 - 6.10 6.12
9F4Y 4hEb EFAX 0.0 | -0.4 | +1.0 | +0.1 0.0 0.0
4 14 1086 422 K#E(2) =15 X 5.95 X 5.84 X 5.89 5.95
VN E EBS +1.1 -0.5 +1.1 +1.1
5 9 1265 &M@ HEHK) =15 557 | 540 570 540 55 5.72 5.72
e 193 EFAX -0.6  -1.2  -0.9  -0.1 | -1.1 ] -1.2 -1.2
6 8 2769|%EHZ #E Q) =15 5.23 | 5,40 525 507 | 532 X 5. 40
7Y ) 19% EX IS -1.2 | +0.1  +0.4  -0.1 | -0.8 +0. 1
7 120 1427 TH EEQA) =15 5.18 | 5.02 | 5.28 - X 5.38 5.38
YRS YT B +0.1 | -0.8 0.0 +0.4 +0.4
8 2 3042 {7 Q) =15 X 5,12 538 | 516 X X 5.38
1 49 EHAE -0.6 @ -0.9 0.0 -0.9
9 6| 11097 #E®M) =15 5.24 | 4.93 | 5.02 5.24
7HYY Y39 EHAE -1.5 | -0.6 | -0.6 -1.5
10 1] 1181 AFH #XQ && 4.85 | 4.69 | 4.82 4.85
VI IV EHITE -0.8 | -0.5 0.0 -0.8
11 3 118208 Z(2) =15 4.69 | 3.99 X 4.69
Y'Y Yy EHITE +0.6  -0.8 +0. 6
12 7] 1161//RE ®w@A) =15 4.59 | 4.39 - 4.59
91 199 EBT% -0.3 | -0.1 -0.3
47 1222/ #2) =15 X X X
1F17 Y39 EHE
10| 1069 & 5hBH (3) =153 X X X
#4b9 E07¥ EHFS
5/ 2765 Al F&(3) =15 Ri5
PHYY By EX IS
FF (REE 5H4H [13:30 ]
B 305% 16.98
B =E08% 15.58
E-GE 14.97
R B
IEfL | 5 Fon - K % iE4 -1- -2- -3- -4- -5- -6- kg B
1 5 1116 £% #®3) =R 12.93 | 12.62 | 13.30  13.0 - 12.3 13.30
91/ T4 £H +0.6  +0.3 | +1.1 | +2.5 +2.9 +1.1
2 4 1268 HE ZBH Q) =15 12.54 | 12.99 | 13.10  12.79 | 11.42 | 12.64 | 13.10
Y9 METH EHFAX +0.3 | +3.1  +1.1  +.7 | +1.2 | +2.3 +1.1
33 14260 HFQ) =15 12.12 - - - - - 12.12
E s VES (VN +0.5 +0.5
4 2 1140 Mk =BH(2) =153 X X 11.50 X 11.25 X 11.50
Yy ATH EHmE +0.7 +2.7 +0.7
5 1 1138 5@ KRIL(Q2) =15 11. 01 X X X X X 11.01
Y¥4" YAEm EFEX +1.4 .4




HF X TEAE 1400 ]
AR (6. 000kg)
e 14.59
BEinek 14.59
K50 14.52
BT
[0 AF N N T ;£ -] 2= 3| 4| 5- 6 @K | &mE |
17 1160 ;';;% ’Eﬁyf(” EE);I% 11.03 11.05 10.76 11.27 11.33 11.47 11.47
2 6 1267 ;ﬁ‘\ﬁj‘;ﬁf; Eéax 9.98 10.81 10.98 10.93  9.91 10.78 10.98
3 5 1214 %K £50 S
4 1 1073 ﬁ; g‘%‘@ '?;i 8X33 :Z 8X65 1(7). :z 8X56 12. 12(2) 12. :z
5 4] 1269 ggk g?‘ﬁh@) '?;Eb 7. 65 8. 64 7.85 8. 64 8.00 8.06 8. 64
L mEEe B e
E)"F 49r "/ : ' ' ' ' '
FF [(RE 5HAH 1030
PR (1. 750kg)
B8 45.21
BEiE 45.21
KR 39. 87
R Bk
"L%:L Eﬂ% 7L‘/111\‘3:1 PE 5?}5& (34)5I = s _X1 : _02 - 32_34_1 _04 - _05 - _06 - fjf’i -
2 8| 1267 7:173%; ggzg(@ §¥;ﬁ¥ 0 0 30. 87 0 131.27 0 31.27
371 1214 %\;‘%wiagm '?;Ex X 26.26 0 29.78 o X 29.78
4 5/ 1160 ng ;g?ﬁ“) '?;i 0 0 25.12 0 0 127.25 27.25
5 6 1087 %il]“‘?f gz‘(?) §¥;I¥ 0 [25.83 0 X X 26.14 26.14
6 4 1254 /;g*g gg}i(?) '?;Eb 0 x 2270 0 0 25.57 25.57
Yk 7374 EHBX ' ' :
78 113 ij%( 5%3) Eﬁﬁ% 2273 0 0 0 2318 0 2318
8 1 1073 ;;:"\K ﬁ;%;@ Eé% 0 [23.05 X 0 X 0 | 23.05
2 1260 KA1 3k (3) B R
¥b £R/Y EHFAX




FF

B33 5AH4E 79:15 |
.
N>v—#& (6. 000kg)
IR0 57.29
XA 4 57.29
E-GE 44.96
R
JlLEﬁ]L it?i;i w]%; ¢ $E§5 (34;5 5 B4 -1- | -2- | 3- | -4- | -5- | -6- | @ -E
A =2
i o EE?'EIX 0 0 1299 X 0 0 12.99
E_F R 5H4H [12:30 |
1 Y # (0. 800kg)
IR0 67.34
XA 4 62.58
E-GE 56. 46
R
JILEﬁ*]L ;K?Zi 7“/1/%‘5:1 - EEE&I (24)5 iE4 -1- ] -2- | -3- | 4 | -5- | -6- kg E3
N 58 =
o 11342} 757;((3) EE%EIX 52.70 | X 0 0 0 0 52.70
B RA ke
i 3042?7157 Hg) Eﬁ'ﬁ% 42.34 | 0 0 0 0 (44.91  44.91
Rk 0 aR
1 1109%2\7%(3) £5m 0 X 40.95 42.85 0 0 42.85
IRt R =X
N Ew 2%25(2) -E;%?'E 39.92 0 0 0 40.59 0 40.59
O i =X
1 13301%7?%‘/1’22) Efﬁ 0 X 139.20 0 0 0 39.20
H ¥ =2
7 4 1153 jlgiT ;qg;g(z) %/ﬁ e A X X : oo
S =R
. 1373*3?’?5 gﬁf@ E5Ty X 136.62 0 0 0 [37.42 37.42
Sy =11
Q‘gt”b ﬁ'g;;* X 0 37.16 X X 137.17 37.17
9 3 1133 =16 =R
10/ 1] 2753 Tf;; ;/:1‘/(2) Eﬁﬁ% i il -
INK B =R
R i 0 0 25.91 25.91
11 8] 1074/&& 15N (2) aR X X X
i EVIEYLY EHE
10 1260 X#0 3h8(3) =15 Ri5
3h tn/y EHHX




	決勝記録一覧表
	100
	200
	400
	800
	1500
	5000
	110H-5000W
	4x100
	4x400
	HJ-PV
	LJ-TJ
	SP-DT
	HT-JT

